Squared Up

Each row of the square adds up to the same amount.
Fill in the missing numbers to complete the squares.

17 92 10 8 41
Square #1 Square #2
The sum of The sum of
each row is 20 48 92 each row is 12 16 41
92. 41.
46 92 41
92 92 92 41 41 41
16 73 18 38
Square #3 Square #4
The sum c_)f 18 73 The sum c_)f 12 v, 38
each row is each row is
73. 38.
25 31 73 5 38
73 73 73 38 38 38
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Square #1

The sum of
each row is

92.

Square #3

The sum of
each row is

73.

53 17 22
20 48 24
19 27 46
92 92 92
19 38 16
29 18 26
25 17 31
73 73 73

Squared Up

(solution)
92
Square #2
92 The sum of
each row is
41,
92
73
Square #4
73 The sum of
each row is
38.
73

10 8 23
12 | 13 | 16
19 | 20 2
41 41 41
14 6 18
19 | 12 7
5 20 | 13
33 38 38

41

41

41

38

38

38



